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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture --—--—--eeeeee- with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that -—---ceeeeeeeees
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to —------ - that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer -----------=-——- an analogy between the human brain and the
computer.

1) drew 2) bore 3) took 4) put

The --—-—ereeeeee -- of the editor’s comments made us think that he hadn’t really read
the manuscript.

l) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound ----—-----—-——- at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

I) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely -——-—-----n--- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —=-----eeemeeem- in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability



Y axio 926A (1044 ) 05 = Sy gomigms

10- The African elephant has become the object of one of the biggest, broadest

international efforts yet -----eeeeeeeeeee to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago. when
they found that rats (11) ==-=-smeeeemaeev a low-calorie diet lived longer on average
than free-feeding rats and (12) ==-semememeaeean incidence of conditions that become
increasingly common in old age. (13) ---=--eeeeeeeee ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-=--s=menmn-
that the maximum life span (the oldest attainable age). (15) --=-=--=-=n==--- merely the
average life span. increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- I)no 2) nor 3) neither 4) not

| PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Although the body can use some variations of carbon compounds such as fatty acids
and ketones as energy, carbohydrates play an important role in this way. First of all,
maintaining a regular intake of carbohydrates will prevent protein from being used as
an energy source. Gluconeogenesis will slow down and amino acids will be freed for
the biosyntheses of enzymes, antibodies, receptors and other important proteins.
Furthermore, an adequate amount of carbohydrates will prevent the degradation of
skeletal muscle and other tissues such as the heart. liver, and kidneys. Most
importantly, ketosis will be prevented. Although the brain will adapt to using ketones
as a fuel. it preferentially uses carbohydrates and requires a minimum level of glucose
circulating in the blood in order to function properly. Before the adaptation process
occurs, lower blood glucose levels may cause headaches in some individuals.

Although the processes of protein degradation and ketosis can create problems of
their own during prolonged fasting, they are adaptive mechanisms during glucose
shortages. In summary, the first priority of metabolism during a prolonged fast is to
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provide enough glucose for the brain and other organs that are dependent upon it for
energy in order to spare proteins for other cellular functions. The next priority of the
body is to shift the use of fuel from glucose to fatty acids and ketone bodies. From
then on, ketones become more and more important as a source of fuel while fatty acids
and glucose become less important.

The term “Gluconeogenesis™ in the first paragraph refers to
1) consumption of carbohydrates 2) production of new glucose

3) intake of new carbohydrates 4) break down of glucose

Which statement related to carbohydrates as a source of energy is not true?

1) Amino acids would be used for production of other proteins.

2) Proteins would be analyzed to free amino acids.

3) They cause inhibition of utilizing proteins for energy production.

4) New synthesis of glucose decreases.

Amino acids are responsible for the biosyntheses of all the following items EXCEPT

1) fatty acids 2) antibodies 3) enzymes 4) receptors
Consumption of carbohydrates will benefit all of the following organ systems EXCEPT

1) urinary system 2)C.N.S

3) muscular system 4) respiratory system

The priorities of the body during a prolonged starvation are --—----eeeeev,

1) providing ketone bodies and then fatty acids for the digestive system

2) providing glucose and then ketone bodies for the digestive system

3) providing fatty acids for the brain and then shifting to ketone bodies

4) providing glucose for the brain and then shifting to ketone bodies and fatty acids
PASSAGE 2:

Fish oil is a commonly used fatty acid supplement because it is a source of omega-3
fatty acids. Fatty acids are strings of carbon atoms, having a range of lengths. If links
are all single (C-C), then the fatty acid is called saturated: with one double bond
(C=C), it is called monounsaturated: if there are two or more double bonds (C=C=C).
it is called polyunsaturated. Only two fatty acids, both polyunsaturated. are considered
essential to be obtained from the diet. as the others are synthesized in the body. The
essential fatty acids are alpha-linolenic acid (ALA). an omega-3 fatty acid. and linoleic
acid (LA), an omega-6 fatty acid. Plant oils, particularly seed and nut oils, contain
alpha-linolenic acid. Dietary supplement sources include fish oil, krill oil and marine
algae extracts. The class of nutrient compounds includes vitamins, minerals, fiber,
fatty acids and amino acids.

Minerals are the exogenous chemical elements indispensable for life. Four
minerals: carbon, hydrogen, oxygen, and nitrogen, are essential for life but are so
ubiquitous in food and drink that these are not considered nutrients and there are no
recommended intakes for these as minerals. The need for nitrogen is addressed by
requirements set for protein. which is composed of nitrogen-containing amino acids.
Sulfur is essential, but for humans, not identified as having a recommended intake per
se. Instead, recommended intakes are identified for the sulfur-containing amino acids
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methionine and cysteine. There are dietary supplements which provide sulfur, such as
taurine and methy! sulfonylmethane.

All of the following fatty acids should be obtained from the diet, EXCEPT --eeeceeeaeeee,

1) linoleic acid 2) monounsaturated

3) polyunsaturated 4) alpha-linolenic acid

By consumption of plant oils, which fatty acid could be provided?

1) Alpha-linolenic acid 2) Monosaturated acids

3) Linoleic acid 4) Omega-6 fatty acid

According to the text, which of the following compounds are basically essential to life?
1) Collagen 2) Polyphenols

3) Minerals 4) Plant pigments

Which statement about minerals is consistent with the text?

1) Minerals are rarely found in food and drink.

2) They are chemical elements produced in the body.

3) Minerals should be received from outside the body.

4) They are regarded as nutrients to be recommended for intake.

Human requirements for sulfur could not be provided by --—-—--eeaeex- 5
1) pure sulfur 2) methionine

3) taurine 4) cysteine

PASSAGE 3:

Animal toxins from chemistry aspect, extends from enzymes and neurotoxic and
cardiotoxic peptides and proteins to many small molecules such as biogenic amines.
alkaloids. glycosides and terpenes. Drug toxicity is affected by all of factors that affect
the toxicity of other xenobiotics. including individual (genetic) variation. diet, age, and
the presence of other exogenous chemicals. Even when the risk of toxic side effects
from a particular drug has been evaluated, it must be weighed against the expected
benefits. The use of a very dangerous drug with only a narrow tolerance between the
therapeutic and toxic doses may still be justified if it is the sole treatment for an
otherwise lethal malady. Although the study of the therapeutic properties of chemicals
falls within the province of pharmacology, essentially all therapeutic drugs can be
toxic, at some dose.

The danger of producing deleterious effects to the individual depends on several
factors, including the nature of the toxic response, the dose necessary to produce the
toxic response, and the relationship between the therapeutic dose and the toxic dose.
Some species from practically all phyla of animals produce toxins for either offensive
or defensive purposes. Some are passively venomous, often following inadvertent
ingestion, whereas others are actively venomous, injecting poisons through adapted
stings or mouth parts. It may be more appropriate to refer to the latter group only as
venomous and to refer to the former simply as poisonous.
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According to the text, the principal target organs for proteins of animal toxins are

1) arteries and veins

2) bronchial tract

3) peripheral and central nervous system

4) heart and central nervous system

Which statement related to usage of a drug with toxic side effects is true?
1) It should be applied with caution.

2) It is not allowed and should be omitted.

3) It could be used only for fatal disease.

4) Its toxic components should be eliminated first.

All of the following factors determine the harmful effects of toxins EXCEPT ----eeeeeeeeee,
1) quality of the toxic response

2) the nature of manufacturing components

3) applying toxic dosages

4) therapeutic and toxic dose correlation

Inactive poisoning by venoms may occur through which system?

1) Alimentary canal 2) Respiratory tract

3) Urinary system 4) Vascular system
According to paragraph 2, the word poisonous can be appropriately used to refer to
1) passively venomous species

2) actively venomous species

3) species injecting poisons through stings

4) species not affected by venom
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